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
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
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




● 




● 








● 



● 


● 
Lbol/ηLEdd







● f






● 
φ B  � φ A
φ

C
.






● 
ψ


● α = ∂ log L
ν / ∂ log 

ν p
φ 





● 



● 



● 



● 

● 






● 



● 

● σ

● 

● σ

● σ

● σ

● 







(Franceschini et al. 1998)

(Nagar et al. 2002)








log LR=0.60−0.11

0.11 log LX0.78−0.09
0.11 log M7.33−4.07

4.05






● 
ξξ

● 

● 

● 
 C∝B

2

q=2 => rad. inefficient 

q=1 => rad. efficient 



ξRM



p=2, -1<α<0

p=2, -1<α<0


p=2, -1<α<0

ξRX






● 







● 












● 



● 


– 
● 



● 










 












● 





● 


● 









(10-3<xcr<10-2)



LX/LEdd

Eddington scaled mass accretion rate

L X
=M c

2





● 



● 






●

●

M log M dlog M= ∬
log Mglog Mdlog M

C log LR , log LX dlog LX dlog LR

Rlog LRdlog LR=∫C log LX , log LRdlog LX ;

X log LX dlog LX=∫C log LX , log LRdlog LR




( η=0.1, xcr=10-3)





Log LX/LEdd Log LX/LEdd
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











xcr

( η=0.1, xcr=10-3)









x<xcr 

x>xcr 



( η=0.1, xcr=10-3)





xcr=10-3

xcr=10-3.5

xcr=10-2.5






η


 





Wjet ∝ mdot

Wjet ∝ mdot0.42

LX/LEdd; Lkin/LEdd

Eddington scaled mass accretion rate







x<xcr 

x>xcr 











● 




● 


● 


● 



● 



